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   Y
ijkl    =  µ + τi + βj

 + γ
k
 + (τβ)

ij
 + (τγ)

ik
 + (βγ)

jk
 

 

        + (τβγ)
ijk
 + ε

ijkl
                                                       

                                                                                                                                 
                                                                                                                                 

B
7���             τ
i
   :  ���	�"'��#
��	89$*�
! (Temp)  

                         β
j
  :  ���	�"'�)���
	�
�	�:,�!� (Force) 

                         γ
k
  :  ���	�"'�	������!� (Production Rate) 

                   (τβ)
ij
  :  ���	�"'�,U!:�
+��V% �#$ '�� "'��#
��	89$*�
!  )�# "'�)���
	�
�	�:,�!� 

i = 1, 2�, a 

j = 1, 2�, b 

k = 1, 2�, c 

l = 1, 2�, n 
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           (τγ)
ik
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          (βγ)
jk
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	�
�	�:,�!�)�#"'�	������!� 

       (τβγ)
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                         "'�	������!� 
         
        :

�!X������-��
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        1.  H0   :  τ1  =τ2  = 0     

             H1   :  At least one τi  ≠ 0  

        2.  H0   :  β1 
 =β

2
  = 0     

             H1   :  At least one βj 
 ≠ 0  

        3.  H0   :  γ1  =γ2  = 0     

             H1   :  At least one γk  ≠ 0  

        4.  H0   :  (τβ)ij   = 0    �8�"'��	� i, j 

             H1   :  At least one (τβ)ij    ≠ 0  

        5.  H0   :  (τγ)ik   = 0    �8�"'��	� i, k 

             H1   :  At least one (τγ)ik     ≠ 0  

        6.  H0   :  (βγ)jk  = 0    �8�"'��	� j, k 

             H1   :  At least one (βγ)jk    ≠ 0  

        7.  H0   :  (τβγ)ijk  = 0    �8�"'��	� i, j, k 

             H1   :  At least one (τβγ)ijk    ≠ 0  
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�������� 4.1 ������
�	�����	���� 
 

�#
��	89$*�
! ����� ����	
��� 
��	�
���� 
��	��
�� Blocks 

(°C) (N/m) (Bag/min) (lb/in2) 

1 1 87 2400 40 11.00 

2 1 77 2700 40 11.00 

3 1 87 2700 33 12.10 

4 1 87 2400 33 12.00 

5 1 87 2700 40 11.60 

6 1 77 2400 33 11.93 

7 1 77 2400 40 12.00 

8 1 77 2700 33 11.90 

9 2 87 2700 40 11.88 

10 2 77 2700 40 11.80 

11 2 87 2700 33 11.25 

12 2 77 2700 33 11.00 

13 2 77 2400 40 11.83 

14 2 87 2400 33 11.70 

15 2 77 2400 33 11.85 

16 2 87 2400 40 11.00 
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�	�������
�� 4 .1  " �
:�
+��V% (Interaction) �#$ '��,6���7�������7 ��	� 

Analysis of Variance for seal strength (pound/square inch), using Adjusted SS for Tests 
Source                                                          DF        Seq SS      Adj SS     Adj MS       F           P 
Blocks                                                              1      0.0930       0.0930      0.0930       0.59     0.466 
Temp(c )                                                          1      0.0380       0.0380      0.0380       0.24      0.637 
Force(N/M)                                                      1      0.0380       0.0380      0.0380       0.24     0.637 
Production Rate(bag/min)                                1      0.1640       0.1640      0.1640       1.05     0.340 
Temp(c )*Force(N/M)                                     1      0.5776       0.5776      0.5776       3.69     0.096 
Temp(c )*production Rate(bag/min)               1      0.1444       0.1444      0.1444       0.92     0.369 
Force(N/M)*production Rate(bag/min)          1      0.1764        0.1764      0.1764       1.13    0.324 
Temp(c )*Force(N/M)*                                   1      0.2450       0.2450      0.2450        1.57    0.251 
Production Rate (bag/min) 
Error                                                                7       1.0951       1.0951       0.1564 
Total                                                               15      2.5716 
S = 0.395524          R-Sq = 57.42%         R-Sq(adj) = 8.75% 

Blocks

Force(N/M)

production Rate(bag/m in)

Temp(c )

8777 27002400 4033
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Blo ck s

1

2

Temp(c )
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F o rce(N/M)

2400

2700

Interaction Plot (data means) for seal strength(pound/squareinch)
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�	�������
��   4.2  Main Effect 
 

4.2 ����	
���
�����	����	�������	8�

9: 2 
 

                ������ !�"��#$%������
�	�"������� 2  ��
�������� 4.3 �#������ !�"��#$%
" �
),�,� �
� 7B,�)��
 MINITAB )�� !V���� !�"��#$%" �
),�,� � (One-way 
ANOVA)  
 

�������� 4.3 ������
�	�"������� 2 
 

	��8��;<�=>?� �8�	����� 

����	


���
 @=���
9: Blocks 

°°°°C Bag/min lb/in2 

5 2 77 33 11.53 
7 2 77 43 11.40 
6 2 92 33 13.16 
8 2 92 43 12.35 
3 1 77 43 11.50 
2 1 92 33 12.39 
1 1 77 33 11.14 
4 1 92 43 12.90 
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    �������� 4.4  ��� !�"��#$%������
�	�"������� 2 

      
 4.2.1 ����	����	������	
���
�	8�

9: 2 

                    �����	
���������� 4.3  ������ !�"��#$%����#
��" �
�-��	
���  95  �,	�%�01��% $��	��� 
�#
����7:��"�t��� α = 0.05 0<��"'� F α,   V1, V2 �������,A
����� F-Test �#&
�"'� F0.05, 1, 7 = 5.59 B
7
�-���9u%�����
:!���"�	;��"'� F0 ���&
�������"��� 9�������ANOVA  
�"'�
��� '�"'�������
�,A
����� F-Test  , F α,   V1, V2 �#,U!�:V H0 $
�7" �
 '��� ),�����v 
����'	" �
)�1�)���	�
�	7,A
��<�;8��
:
+�:��	�%&�0% 

                    ��	����	�����F� 	��8��;<�=>?�G���	HI���J�  
                    ����������� 4.4    "'�     F0  = 20.67  0<���,=�"'����
����� �
�� '�"'�   F0.05, 1, 7 =  5.59 

�������,A
����� F-Test )�#"'� P-value = 0.020 0<��
�"'���	7� '� α = 0.05 
�������<�,U!�:V
:

�!X�� H0 :�8,&
� '�"'� 	89$*�
! 
����'	" �
)�1�)���	��	7,A
��<�;8��
:
+�:��	�%&�0% 
)�'���7��&
'���� '��#
��	89$*�
! 9.�����'��
�<��#�,=�"'�����$
�#:
����#�-��������!���!� �<���	�
&,		�)������
�	��+��	$�:*� #����$
�#:
�'	&, 

                    ��	����	�����F��8�	����� 
                    ������
�	�����	����     +� '�" �
$'���	��#
���� ),�7��
���	7     "��������<�&
� 

�7�7" �
$'���	�	������!���� 33 )�# 40 ;8��'	���� �,=� 33 )�# 43 ;8��'	���� )�#����������� 
4.4 "'� F0 = 0.00 0<���,=�"'����
����� ���	7� '�"'� F0.05, 1, 7 = 5.59 )�#"'� P-value = 0.963 0<��
�"'�

��� '� α = 0.05 
�������<�7	
���:

�!X�� H0 :�8,&
� '�	������!���-' �������$�
�����

Analysis of Variance for seal strength(pound/squre inch) 

 
Source                          DF     Seq SS     Adj SS      Adj MS          F           P 
Blocks                          1       0.0325     0.0325        0.0325        0.20        0.688 
Temp                            1       3.4191     3.4191        3.4191       20.67       0.020 
product                         1       0.0006     0.0006         0.0006        0.00       0.955 
Temp*Product Rate     1       0.0351     0.0351         0.0351        0.21       0.676 
Error                             3       0.4962     0.4962        0.1654 
Total                             7       3.9836 

S = 0.406709   R-Sq = 87.54%   R-Sq(adj) = 70.93% 
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�������� 4.5  Least Squares Means for seal strength 
 

HKLL8M Mean SE Mean 

	89$*�
! 
77 
92 

 
11.14 
12.95 

 
0.08683 
0.08683 

	������!� 
33 
43 

 
12.05 
12.04 

 
0.08683 
0.08683 

	89$*�
! * 	������!� 
77*33 
92*33 
77*43 
92*43 

 
10.84 
13.27 
11.45 
12.63 

 
0.12280 
0.12280 
0.12280 
0.12280 

                                
                                  ����������� 4.5 +� '� ���#$ '�� 	89$*�
! * 	������!�����#
�� 	89$*�
! = 92 
)�# 	������!� = 33  �#�$�"'�" �
)�1�)���	7,A
��<�:��� '�"'�	��� 
 
4.3 ����	
���
�����	����	�����Q�:���@=���
9:��?��@? 

 

�������� 4.6   !�"��#$%���),�,� ��	�,6���7 

One-way ANOVA: seal strength  

Source     DF            SS              MS            F            P 
Temp        4             6.770          1.692        2.76       0.033 
Error        83            50.955        0.614 
Total        87            57.724 
S = 0.7835            R-Sq = 11.73%         R-Sq(adj) = 7.47% 
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�������� 4.7 ����,��7����7�" �
)�1�)���	7,A
��<� 
 

Individual 95% CIs For Mean Based on Pooled StDev 

 

Level   N          Mean  StDev     +---------+---------+---------+--------- 

100     16           11.469  0.618            (----------*----------) 

105     16           11.844  0.747                      (----------*-----------) 

85      17            11.235  0.687     (----------*----------) 

90      22            11.182  0.920     (--------*---------) 

95      17            11.794  0.849                     (----------*----------) 

                                                    +---------+---------+---------+--------- 

                                                    10.85     11.20     11.55     11.90 

                             Pooled StDev = 0.784 
 

 

4.4  ��	
g���	
���
���M��	�:�

�@���	
�J
 (Tensile Testing Machine) 

                                ����	�
� 7�#$ '������
:	�  +� '� !V�����
:	�$�"'�" �
)�1�)���	� 
���,A
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�" �
)
'�7����
����	�����#�8���)$�'����;8��
��� 0<

�&
'
+	   �<�&
�����	� !V�����
:	�" �
)�1�)���	����,A
��<�
� 7�"���	� Tensile Testing Machine 
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�

�" �
)�1�)��
��� '���� )�#�������+V%���):
��������*�"�� � �1  �2  �3  �4 )�# �5 
(Agro-Industry Development Center for Export, Faculty of Agro-Industry, Prince of Songkla 
University, 2549)  �#���
� !�"��#$%��)���
�7 ���"�	 !�"��#$%
� 7B,�)��
 MINITAB 
 
�������� 4.8  !�"��#$%���),�,� ��	�,6���7�+��	7��7����
� 7�"���	� Tensile Testing Machine 
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                                   2. Fit +!���9���	
��)�'�#�����
��%
�" �
���),�:
����:
	�	�"'�?��7%
$��	&
' 0<���������� !�"��#$%+� '�7��
�" �
���),��	���	
��	��
�:��$�8
����:*�+) 
��	


 

One-way ANOVA: Y versus Temp 

 
Source                    DF              SS              MS            F        P 
Temp                      4                  233.03      58.26        7.26     0.000 
Error                      70                561.62      8.02 
Total                      74                794.64 
 

S = 2.833   R-Sq = 29.32%   R-Sq(adj) = 25.29% 
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7� ����$

 14.8 0
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�	��	7,A
��<���)� �	�
����'�� ������:������
��	+!���9�������)$�'��#7#��� 4 0<��	7�'��-' �
" �
7�  11.1 � 14.8 �#,���U '��#
��	89$*�
!��� 105 	�?��0��0�7:
�" �
;���������� 0<

��
���:8
0<���#��
)7������������!
���#7#��� 3 ���
�" �
;���������� 0<
��	7 ������:��� �)�#"��$����
��!
,6t$�����!� 9�#7#��� 4 �+!�
��!
+� '�);��
� 
" �
��	�����!� 9�#7#��� 4 �#	7�'��
���@9#�������� '��#
���	��#7#��� 3 �,=����$�"'����&
�"��
�"���	�
��):
�����,,�#�	���� 4.7 
 

 
 

�	�������
�� 4.7 ���@9#);��
� 
" �
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4.5����	��������
����	�����

��������������� 

                               �����
�	��������	�
����������	��	��
�����	�����������  !���	�	�"
�#	���$�	
�����	���������!��!���������	$��� %�&������&� ����
���'���#	������� �	��($��
��	����)*�+���	$��������������,�� �	�-�
�����	����#	-�&.'����#
��	89$*�
!!������	
��� /0��
&��	��*�
�0�"1����	�����+-�/+��,��	��*�
�0�2� &.'$�	��'���0��'���#	��	����)*�+�-�

����������	�13��%���������
�0�  !���#	�	�#	�����,�������&��	����������	����
����
�#	�	&.'&��	�����1
�����34+���-� 
               4.5.1 ��	�:�
?��
�@�� $�� Differential Scanning Calorimeter (Perkin Elmer,DSC7) 
               4.5.2 ���
���	����� .����13��%���	����$�	��+  � %������	�  50-150  ��5	�/��/� �
����	�	�������13��%���
�	��� 10 ��5	�/��/� � ��� �	
� 
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               4.5.3 ����	�����   !�����,���	) 3 ���� �	�  /0������������	�3	$�	�������	���������
����� ��"	�� (Onset) !�����13��%���������
�0� ����	�������
�� 4.8, 4.9 !�� 4.10 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

�	�������
�� 4.8 �1�����������)*�+���	����$��;�
�� 1 
���
�:?��7%�"���	�
�	 !�7�?�:��%  
$� !�7���7:�����"�!���%, 2549 
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�	�������
�� 4.9 �1�����������)*�+���	����$��;�
�� 2 
���
�:?��7%�"���	�
�	 !�7�?�:��%  
$� !�7���7:�����"�!���%, 2549 
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�	�������
�� 4.10 �1�����������)*�+���	����$��;�
�� 3 
���
�:?��7%�"���	�
�	 !�7�?�:��%  
$� !�7���7:�����"�!���%, 2549 
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                            �	��	���������� 4.8, 4.9, 4.10 ):
��8
$�	
�� �	�xA�%
+��:�!��#&
�"'�
	89$*�
!$�	
�� ��<� 3 "'� "�	  104.207, 104.115 , 103.712  	�?��0��0�7: )�#�
��	���
������7���
�#&
�"'�:
���!�	�xA�%
+��:�!�����$
�#:
���:*� #���
�	������!� 43 ;8� �'	���� )�#�#
��
	89$*�
!�	����,A
��<��,=� 105 	�?��0��0�7: " �
��8
$�	
�� �	�xA�%
+��:�!�	7�'��� 
104.0113   	�?��0��0�7:  
 

4.6 ��	����� �!���!"�
"�� 

                           �����
#	�	�
����������	��	��
�����	���!�'� -�'$�	
�����	������!�������
!��
�����
����$�	�!�(�!������	��*�
�0�&������
����$�	�!�(�!���%��0;�!�������	$�	���� !��
����
�����#	$�	
���	-�'-�&.'�	�$��
#	�	�
�����������,��	� �� ����	�	�	�"&.'�	�-�'����-����
��<�	�	��	 �0�-�'�#	����	�
����-�'�����; 
             4.6.1 
�#���	����� �!���!"�
"�� 

  4.6.1.1 �#	�������	
���-�'
������� 43 "1�����	
� 
  4.6.1.2 �#	����#
��	89$*�
!
��&.'&��	��*�
�0�� %�
������� 105 ��5	�/��/� � 

              4.6.1.3 &.')*�+���	����
�����������1��������� %�
������� 104 ��5	�/��/� � 
  4.6.1.4 &.'��������&��	�
��� 
  4.6.1.5 ��(����� �	�"1��� $�0��.���2�����1"1� �	����	
#	�	�
��� 1��� 
  4.6.1.6 �����.($�	�����/0����"1����3�
#	�	�
���
1�.�;� 
  4.6.1.7 �#	"1������� �	�
��-�'-�
��������$����� Burst Test ������	$�	$�	�!�(�!�� 
 

             4.6.2 ����	����� �!���!"�
"�� 

 
 �	�	�
�� 4.9 
��	�
��������� �� ��
� 
 

�;<�=>?� Seal strenght (lb/in2) �i�9:M 

105 12.00 12.00 11.80 13.80 13.00 12.00 12.00 12.00 13.00 14.00 12.56 
                 

                �	��	����$�	��+
��	�
����        ����	$�	���$�	�!�(�!���� �*�
�0�
��� %�&� 
�������;�!�� 12.00 ����+/ �	�	���;��0;�-�����2��	�
���������	�����/0�-�'�'� ���	$�	$�	�!�(�!��

��� %�&��������#	���	 12.00 ����+/�	�	���;� �	��	�������
�� 4.11 �����;�$�	�#
��	89$*�
!
�� 105 
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��5	�/��/� �  
������	
��� 43 "1�����	
���,�$�	
��� %�&�.���
�� �����-�' !��-��
#	&�'���������� 
�	��	������.($�����	�
#	�	�
��� �0�!���#	&�'
	�2���	��#	��	���	�
�����;-�&.'�	�-�'&�
�	�
����������-� 

 

seal strength
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11.00

11.50
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13.00

13.50

14.00

14.50

1 2 3 4 5 6 7 8 9 10

9:-2/2+*/);-=
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�	�������
�� 4.11 $�	�!�(�!���� �*�
�0��	�
��������� �� ��
� 
 

4.7 �$��"�"%�"%������&�$�����	�����&��'��
�� 

                 �	�
��	�
����������	$�	���	���     !���	�
��������� �� ��
�      ����	$�	 
$�	�!�(�!������	�����	���	��
���#	���&�' =���;��	�
�����#	$�	
��-�'�	��	�
����-��>�����
��;��0��'�������&�'���	�������"	��	�3+�	�
���!��$�	������-�$��� %�&�.���
��-�'
#	�	�50�?	
�
�	��;� !��������������'��%��	����
0��	�
����2� -�'�=��� $�	$�	�!�(�!������	�	�
�� 4.10 
!���	�������
��4.12 �	�	�"��1���	���	���-��>������	�����-�'�����; 

                   1) ��	���'���	�$�	�!�(�!������� �*�
�0��%� !��-����$�	���������&��	� 
���������$'	&�'����%�$'	$�������&.'��	��
��������-� ����	
��� 33 "1�����	
�!���13��%�� 92 
��5	�/��/� � /0����-�'$�	$�	�!�(�!���=��� ����� �*�
�0�"1���
������� 12.96 ����+���
�	�	���;� 

                    2) ��	���'���	�����	
���
���%�     ������	����������$'	&�'����%�$'	-�'
���	� 
�#	���!��&�'$�	$�	�!�(�!������� �*�
�0��	���	� $���������	��
��������-� ����	
��� 43 
"1�����	
� !���13��%�� 105 ��5	�/��/� � ��-�'$�	$�	�!�(�!���=��� ����� �*�
�0�"1���
��
����� 11.89 ����+����	�	���;�!���	����	�3	�	�
�&��	�	�
�� 4.10 ����	!�'&�����	
���
�� 43 
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"1�����	
���&�'$�	$�	�!�(�!��
���%�$�� 12.64 ����+����	�	���;� !�����?3��������1��34+
��-�'
��-����$�	����%�3+�.�� ����$���
���� �*�
�0��������	��13��%�� 92 ��5	�/��/� � -��������A+���
���	�����
����(��0;�
#	&�'�	�$��;��(���"1���-���	�����"1�����������	 "1��'����� ���	&��	�&.'
���-��������$��;� !�'��&�'$�	$�	�!�(�!���%��(�	�!���'����� ���	&��	�!�'-��0������
����&.'
�13��%��105 ��5	�/��/� � 

                    3) �	��	�50�?	����	      -��$���#	���$�	������-�&�'�%���������#	�������$����� 
����&��'	�����	��(�-��$������ 50 "1�����	
� �������	��	���1���(����� Profile ���.1��%����; � 
�	�
#	&�'�����	����!
����-�' �'	��13��%��-��$������ 110 ��5	�/��/� � �	�
#	&�')*�+�
��	����-��'-�' 
 

�	�	�
�� 4.10 $�	$�	�!�(�!���=��� ��� 
 

	������!� 
	89$*�
! 33 43 

77 11.575 11.75 
85   11.50 
90   11.18 
92 12.96 12.64 
95   11.81 
100   11.54 
105   11.89 

                                                 
                                             
���	:�	�	��	$
��� � 2 !�� � 3 
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D
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./0)12340 33

./0)12340 43
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*�+,�#�	����4.12  $�	$�	�!�(�!���=��� ��� 
 

4.8 �
�	��() ���&��*� 
                           �	��'��%�&��

�� 1 &��	�
#	�	�����$�����������!������	   $��  ���!�-))B	
����  3 �)�   380 2���+ ������	�%<��� -))B	� %�
������� 1  ��2�����+/.���2�� 
��$�	�"������� 50 
�~!��0% (Hz) )�'�
��	������,���,�8�B
7����!
���� Inverter " �
;������"���	��#�+!�
�<���,=� 65 Hz 
�<��#&
�	������!�����#
�� 43 ;8��'	���� ��
��	���� 
������	����:�t�:�7&xx���	��"���	�,A
��<�
�<��+!�
�<���,=� 1.254 ��2�����+/.���2�� ������
� ����	����:�t�:�7&xx���	�)��"�	 1  �!B� ���%/
-�� B
�  $����,��'� �� 25.4 
��������0;� 
 

�������� 4.11 ����,��7����7�����,���7�),���'	�)�#$������,���,�8� 
 

�+�"�	
��	,� 
 

��
��	
��	,� 
 

1. $�	�=��� $�	�!�(�!������� �*�
�0��	��	�

�������;���'��
�	��� 11.615 ����+ ��� 
�	�	���;� 
2. ����	
���
������� 33 "1�����	
�  
3. ���!�-))B	���� 3 �)�   380 2���+ ������	
�%<��� -))B	� %�
������� 1 ��2�����+/.���2�� 
��
$�	�"������� 50 �C���/+ (Hz) 

1. $�	�=��� $�	�!�(�!������� �*�
�0��	��	�

��������� �� ��
��
�	��� 12.56 ����+ ��� 
�	�	���;� 
2. ����	
���
������� 43 "1�����	
�������0;� 30%  
3. ����	�%<��� -))B	����$������*�
�0�������0;�
��,� 1.254 ��2�����+/.���2��������0;� 25.4% 
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4. �'	��'�
1��	��� ����	�	�
#	�	� 8 .���2��
���1 �	 �	�
����	�	�"
���-�' 15,840 "1����
��� 

4. �	��� ����	�	�
#	�	�  8  .���2��  ��� 1
�	 �	�
����	�	�"
���-�'  20,640 "1������� 
������0;� 4,800 "1� $����,��%�$�	 28,800 �	
 

 
 

 

 

 

 


